PLACE 3 ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT\*

PLACE 4 OR MORE ORDERS FOR 15-40 CASE PALLETS IN 2018
AND RECEIVE FREE FREIGHT + ADDITIONAL 10% OFF

6" RECTANGLE GLASS VASE	Order 1	Order 2	Order 3	Order 4
6"H x 4"W x 3"D. Order 3 Pallets: \$14.16 ctn. of 12 (\$1.18 ea.) Order 4 or more Pallets: 10% OFF \$12.74 ctn. of 12 (\$1.06 ea.) SO 3077-12-09FTDSO	QTY	QTY	QTY	QTY
6" ROSIE POSIE GLASS VASE 4\/4" dia. opening x 6"H. Order 3 Pallets: \$19.94 ctn. of 6 (\$3.32 ea.) Order 4 or more Pallets: 10% OFF \$17.95 ctn. of 6 (\$2.99 ea.) SO 3031-06-09SO	QTY	QTY	QTY	QTY
6" ROSE GLASS BOWL 37/8" dia. opening x 6"H. Order 3 Pallets: \$19.55 ctn. of 12 (\$1.63 ea.) Order 4 or more Pallets: 10% OFF \$17.60 ctn. of 12 (\$1.47 ea.) SO C967SO	QTY	QTY	QTY	QTY
7" REGENCY GLASS VASE 3½" dia. opening x 7"H. Order 3 Pallets: \$22.29 ctn. of 12 (\$1.86 ea.) Order 4 or more Pallets: 10% OFF \$20.06 ctn. of 12 (\$1.67 ea.) SO 3027-12-09SO	QTY	QTY	QTY	QTY
8" ROSE GLASS VASE 33/4" dia. opening x 8"H. Order 3 Pallets: \$13.97 ctn. of 12 (\$1.16 ea.) Order 4 or more Pallets: 10% OFF \$12.57 ctn. of 12 (\$1.05 ea.) SO 4999-12-09SO	QTY	QTY	QTY	QTY
8" ROSE GLASS VASE 41/8" dia. opening x 8"H. Order 3 Pallets: \$19.51 ctn. of 12 (\$1.63 ea.) Order 4 or more Pallets: 10% OFF \$17.56 ctn. of 12 (\$1.46 ea.) SO 4099-12-09SO	QTY	QTY	QTY	QTY
8" ROSE GLASS VASE 4½" dia. opening x 9"H. Order 3 Pallets: \$41.78 ctn. of 12 (\$3.48 ea.) Order 4 or more Pallets: 10% OFF \$37.60 ctn. of 12 (\$3.13 ea.) SO 4150-12-09SO	QTY	QTY	QTY	QTY 1



PLACE 3 ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT\*

PLACE 4 OR MORE ORDERS FOR 15-40 CASE PALLETS IN 2018
AND RECEIVE FREE FREIGHT + ADDITIONAL 10% OFF

	Order 1	Order 2	Order 3	Order 4
6½" GATHERING GLASS VASE 3¾" dia. opening x 6½"H. Order 3 Pallets: \$15.79 ctn. of 12 (\$1.32 ea.) Order 4 or more Pallets: 10% OFF \$14.21 ctn. of 12 (\$1.18 ea.) SO 4142-12-09SO	QTY	QTY	QTY	QTY
6½" GATHERING GLASS VASE 3¾" dia. opening x 6½"H. Order 3 Pallets: \$31.14 ctn. of 12 (\$2.62 ea.) Order 4 or more Pallets: 10% OFF \$28.30 ctn. of 12 (\$2.36 ea.) SO 4102-12-09FTDSO	QTY	QTY	QTY	QTY
8" GATHERING GLASS VASE 3 <sup>3</sup> / <sub>4</sub> " dia. opening x 8"H. Order 3 Pallets: \$15.57 ctn. of 12 (\$1.30 ea.) Order 4 or more Pallets: 10% OFF \$14.01 ctn. of 12 (\$1.17 ea.) SO 4940-12-09SO	QTY	QTY	QTY	QTY
8" GATHERING GLASS VASE  4 <sup>3</sup> / <sub>4</sub> " dia. opening x 8"H.  Order 3 Pallets: \$30.46 ctn. of 9 (\$3.38 ea.)  Order 4 or more Pallets:  10% OFF \$27.41 ctn. of 12 (\$3.05 ea.)  SO 4110-09-09FTDSO	QTY	QTY	QTY	QTY
8" SLENDER GATHERING GLASS VASE 4" dia. opening x 8"H. Order 3 Pallets: \$33.14 ctn. of 12 (\$2.76 ea.) Order 4 or more Pallets: 10% OFF \$29.83 ctn. of 12 (\$2.49 ea.) SO 4104-12-09FTDSO	QTY	QTY	QTY	QTY
61/4" GINGER GLASS VASE 31/4" dia. opening x 61/4"H. Order 3 Pallets: \$22.70 ctn. of 12 (\$1.89 ea.) Order 4 or more Pallets: 10% OFF \$20.43 ctn. of 12 (\$1.70 ea.) SO 4021-12-09SO	QTY	QTY	QTY	QTY
7" CLASSIC GLASS URN 31/4" dia. opening x 7"H. Order 3 Pallets: \$23.84 ctn. of 12 (\$1.99 ea.) Order 4 or more Pallets: 10% OFF \$21.46 ctn. of 12 (\$1.79 ea.) SO 4035-12-09SO	QTY	QTY	QTY	QTY 2



PLACE 3 ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT\*

PLACE 4 OR MORE ORDERS FOR 15-40 CASE PALLETS IN 2018
AND RECEIVE FREE FREIGHT + ADDITIONAL 10% OFF

	Order 1	Order 2	Order 3	Order 4
8 <sup>3</sup> / <sub>4</sub> " CLASSIC GLASS URN 4 <sup>1</sup> / <sub>4</sub> " dia. opening x 8 <sup>3</sup> / <sub>4</sub> "H. Order 3 Pallets: \$31.54 ctn. of 12 (\$2.63 ea.) Order 4 or more Pallets: 10% OFF \$28.39 ctn. of 12 (\$2.37 ea.) SO 4036-12-09SO	QTY	QTY	QTY	QTY
10 <sup>5</sup> / <sub>8</sub> " CLASSIC GLASS URN 5" dia. opening x 10 <sup>5</sup> / <sub>8</sub> "H. Order 3 Pallets: \$19.37 ctn. of 6 (\$3.23 ea.) Order 4 or more Pallets: 10% OFF \$17.43 ctn. of 6 (\$2.91 ea.) SO 4042-06-09SO	QTY	QTY	QTY	QTY
8" JORDAN GLASS VASE 4" dia. opening x 8"H. Order 3 Pallets: \$18.97 ctn. of 12 (\$1.58 ea.) Order 4 or more Pallets: 10% OFF \$17.07 ctn. of 12 (\$1.42 ea.) SO 4045-12-09SO	QTY	QTY	QTY	QTY
8½" SWIRL GLASS BUD VASE 1½" dia. opening x 8½"H. Order 3 Pallets: \$37.34 ctn. of 48 (\$0.78 ea.) Order 4 or more Pallets: 10% OFF \$33.61 ctn. of 48 (\$0.70 ea.) SO C900SO	QTY	QTY	QTY	QTY
9" MULTI-STEM GLASS BUD VASE 1 <sup>3</sup> / <sub>4</sub> " dia. opening x 9"H. Order 3 Pallets: \$26.43 ctn. of 24 (\$1.10 ea.) Order 4 or more Pallets: 10% OFF \$23.79 ctn. of 24 (\$0.99 ea.) SO C220SO	QTY	QTY	QTY	QTY 3



PLACE 3 ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT\*

PLACE 4 OR MORE ORDERS FOR 15-40 CASE PALLETS IN 2018
AND RECEIVE FREE FREIGHT + ADDITIONAL 10% OFF

81/2" ROSE GLASS VASE ASST 3 styles. Style count may vary. 31/2" dia. opening x 81/2"H. Order 3 Pallets: \$18.86 ctn. of 12 (\$1.57 ea.) Order 4 or more Pallets: 10% OFF \$16.97 ctn. of 12 (\$1.41 ea.)	Order 1	Order 2	Order 3	Order 4
9 <sup>3</sup> / <sub>4</sub> " GLASS ROSE VASE ASST 3 assorted styles. Style count may vary. 4" dia. opening x 9 <sup>3</sup> / <sub>4</sub> "H. Order 3 Pallets: \$20.34 ctn. of 12 (\$1.70 ea.) Order 4 or more Pallets: 10% OFF \$18.31 ctn. of 12 (\$1.53 ea.) SO C973-12SO	QTY	QTY	QTY	QTY
8½" ROSE GLASS VASE ASST 3 styles included. Style count may vary. 3¾" dia. opening x 8½"H. Order 3 Pallets: \$18.05 ctn. of 12 (\$1.50 ea.) Order 4 or more Pallets: 10% OFF \$16.25 ctn. of 12 (\$1.35 ea.) SO 4072-12-09SO	QTY	QTY	QTY	QTY
8½" ROSE GLASS VASE ASST 3 styles. Style count may vary. 3¾" dia. opening x 8½"H. Order 3 Pallets: \$18.96 ctn. of 12 (\$1.58 ea.) Order 4 or more Pallets: 10% OFF \$17.06 ctn. of 12 (\$1.42 ea.) SO 4093-12-09SO	QTY	QTY	QTY	QTY
9 <sup>3</sup> / <sub>4</sub> " TEXTURED GLASS VASE ASST 3 assorted styles. Style count may vary. 4" dia. opening x 9 <sup>3</sup> / <sub>4</sub> "H. Order 3 Pallets: \$21.29 ctn. of 12 (\$1.77 ea.) Order 4 or more Pallets: 10% OFF \$19.16 ctn. of 12 (\$1.60 ea.) SO 4090-12-09SO	QTY	QTY	QTY	QTY 4



PLACE 3 ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT\*

PLACE 4 OR MORE ORDERS FOR 15-40 CASE PALLETS IN 2018 AND RECEIVE FREE FREIGHT + ADDITIONAL 10% OFF

\*Continental U.S. only

03/# DOSE SLASS VASE ASST	Order 1	Order 2	Order 3	Order 4
93/4" ROSE GLASS VASE ASST 3 styles included. Style count may vary. 4" dia. opening x 93/4"H. Order 3 Pallets: \$21.79 ctn. of 6 (\$1.82 ea.) Order 4 or more Pallets: 10% OFF \$19.61 ctn. of 6 (\$1.63 ea.) SO 4094-12-09SO	QTY	QTY	QTY	QTY
10" CUT-GLASS VASE ASST 2 each of 3 styles. 6" dia. opening x 10"H. Order 3 Pallets: \$46.63 ctn. of 6 (\$7.77 ea.) Order 4 or more Pallets: 10% OFF \$41.97 ctn. of 6 (\$6.99 ea.) SO 4039-06-09SO	QTY	QTY	QTY	QTY
TOTAL CASES: (Total of 15-40 cases per pallet)	QTY	QTY	QTY	QTY
SHIPPING DATE:				
Member #				
Contact Name				
Shop Name				
Delivery Address				
Signature				
Lift Gate needed*  *Extra charge of \$125.00 per order.				

Offer valid 4/5/18 through 12/01/18 or while supplies last and all orders must be shipped in calendar year of 2018. Offer available for members in Continental U.S. only. Items not available for ship to Canada, Alaska, Hawaii and Puerto Rico. Offer not valid on existing or previously placed orders and cannot be combined with any other offers or discounts. FTD may update these terms or cease any offer at any time. Any dispute regarding offers or orders will be governed by the terms of your FTD member agreement and the terms found at www.ftdi.com. Prices are subject to change. FTD reserves the right to accept or reject orders. Descriptive or typographical errors are subject to correction. "A Registered Trademark of Florists' Transworld Delivery, Inc. "A Trademark of Florists' Transworld Delivery, Inc. @2018 Florists' Transworld Delivery, Inc.

